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INSTRUCTIONS AND INFORMATION
1. Answer ALL the questions.
F\Z. Read ALL the guestions carefully.
3 Number the answers according to the numl_)_&erfiﬁ“ _‘_ystéﬁiﬂgséd; m this question
paper. sk :
4, Start each guestion on a NEW page-
5. Answer ALL the guestions within the practlcalcontext of the given situation.
6. Carefully consider the mark allocatlon mj \eza:'éﬁ"question.

7. Write neatly and legibly. "
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QUESTION 1

1.1 Indicate whether the following statements are TRUE or FALSE. Choose the
“ answer and write only ‘true' or ‘false’ next fo the guestion number
j (1.1.1-1.1.10) in the ANSWER BOOK. Correct the statement if it is FALSE.

1.1.1 Staffing is the process of appointing qualified employees in suitable
positions.
112 Conceptual skills refer to the ability to work with people.
1.1.3 Policies are guidelines and procedures based on the | ctivities-.of a
business. ’ g
|
_ « : |
1.14 A businass structure includes horizontai and vert:cal au orlty and I

communication lines.

| o 1.1.5 Cordless credit card machlnes are xamples of mnovatlons

1.1.6 SARA stands for South Afracan Chefs Assoc:atlon

11.7 A partnership is a Iegal ent;ty and can be listed on the stock

exchange. =

118

1.1.9  The staf‘f budget‘ rﬁakes p‘rowsmn for training and remuneration.

1.1.10 The Ec;uit" theory .of Adams is a process motivation theory. ‘

K (10x2) (20) ‘

i (,\!1_2 Give a, cémplete descrlp’non for each of the following terms. Write only the Add
o descnption ﬂext to the guestion number (1.2.1-1.2.3) in the ANSWER BOOK.

12‘! Autocratic leadership (2)

T.Z.é ";P-rod uctivity standards as a control method (2)

123 The meaning and use of PERT (6)

Copyright reserved ' Please turn aver




© . (4080594) - : N10(E)(N23)H
] 1.3 Give ONE term for each of the following descriptions. Write only the term
next to the question number (1.3.1-1.3.5) in the ANSWER BOOK.

1.3.1 When a manager and a subordinate plan together and set work
goals for the subordinate to achieve.

1.3.2 A management style that pleads for more worker involvement in
workplace decision-making. :

1.33 . A technique that indicates exceptions or deviations in .the conirol
process. o T
1.3.4 A motivation theory that accepts that money can sahsfy -'a;dlversrty
of needs. R .
1.3.5 A motivation theory that suggests that money can’ be used as a
’ﬁ\ reward to improve work performance i "
) | A 5x2) (10)

14 Choose a description from COLUMN B«that matches an’ ltem in COLUMN A.
Write only the letter (A-E) next to the ques’ncn number (1.4.1-1.4.5) in the i
ANSWER BOOK. ' & |

COLUMN A .~ COLUNMNB
1.4.1 Reward.authority 4. A  the manager dismisses the worker for
e ;. aserious offence

142  Coercive authority= |
= |“B  manager asks his/her secretary to type
143 a document
|
144 . 'Reference authorlty C respect for a manager due fo hls/her
- ieadership

8 145 . k_Expert authorlty
AT D a manager with superior computer
skills ‘

E the manager gives a bonus to a worker :
for good quality work !
(5% 2) (10)
150]
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QUESTION 2
2.1 Describe the THREE different sectors in the hospitality industry and give
suitable examples for each. (10)
2.2 Explain THREE catering service categories for government institutions like §
the Defence Force. (3 x 2) (B)
23 Explain the SEVEN steps of the operational planning process of a hote*i"; :
'\,u(? x2) (14
24 Briefly discuss what the following types of objectives wouid be for a: medlum-‘

sized hotel.

241 ONE strategic objective

| ~ 242 ONE functional objective
243 ONE operational chjective
- (Bx2) (6)
2.5 ‘Name FOUR types of enierprises (ownershlp structures) (4)
2.6 Explain the division of workl[abour undef thé fol!owmg headings:
job scope and job depth. (3x2) 6 I

2.6.1 he differsnce betwe-:

286.2 essful application of division of labour.
(2x2) (4)
{50]
i
QUESTION 3 ;
3.1 D:scuss deiegahon under the following headings:
311 ) A description of the term delegation. (2)
312 " THREE elements of delegation. ' (10)
3.2 : 'Briefiy describe THREE advantages of a line organisation for a hotel.
(3x2) (6)
3.3 Fill in the missing words in the following description of leadership. Write only

the answer next to the question number (3.3.1-3.3.4) in the ANSWER BOOGK. ‘

influenced by a ... (3.3.3) in order fo achieve ... (3.3.4). 4x1) 4) ‘
34 Name FIVE facets of leadership. {5)

Leadership can be seen as a ... (3.3.1) process where a ... (3.3.2) is ‘
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The hotel manager has to solve the problem of poor service in the restaurant.

3.51 Explain why the hotel manager must be able to make good
decisions. (3)

3.5.2 Name the EIGHT steps of the decision making process in the

| correct order. - (10)
|
| 3.6 Describe the following elements of the communication process wr‘ch suxtable
. examples for each: —_—
361  Encoding )
3.6.2 Internal barriers 4)
[50]
e
- "~QUESTION 4
4.1 6
4.2
%)
422 The THREE e.en’ems of boorquuon (3% 3) (9)
43 The hotel manager | ldentiﬂed poor sennce delivery as a problem at the hotel.
He informs the an resources (HR) officer to organise service training for
In the example given. above idennfy the THREE levels of coordination and
. explain how thestaff members from each of the THREE levels will need to
. work toge er‘to solye the problem. (3x4)  (12)
4.4 Bmeﬂy discuss FIVE reasons why control is necessary at a hotel. (5x2) (10)
45 Destfibe FOUR main resources (areas) that the hotel manager needs to
- controlin the business and give an example for each. (4 x2) (8
[50]
TOTAL: 200
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